Module 3 Quiz Name Store

1. The power of a prescription is written in

2. A myope always has in his or her prescription the following kind of power:
a. Minus power
b. Plus power
c. Cylinder power
d. Axis

3. A hyperope always has in his or her prescription the following power:
a. Minus power
b. Plus power
c. Cylinder power
d. axis

4. In the Boxing System the A measurement is known as?
a. Effective diameter
b. Height
c. The bridge size.
d. The eye size

5. A first time bi-focal wearer should be measured at what part of the
eye.

6. Transpose and convert to reading the following RX.
OD -2.00 +2.00 x 95

0S -1.50 + 0.50 x 30
add +2.00 ou

7. Why is it important to use a pupilometer to measure the PD on a progressive wearer?

8. Transpose the following RX.
OD -1.00 sph

0S -1.00 +1.50 x 135
9. OS indicates the eye.

10. OD indicates the eye.
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Answers:

Diopters

A.

B.

D.

Lower Lid

0D +2.00 -2.00 x 005
0OS +1.00 -0.50x 120
The progressive channels run directly beneath the centers of the pupils.
OD -1.00 sph

0S +0.50-1.50 x 45
9. Left

10. Right
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